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GENERAL INSTRUCTIONS

e

Examinee is directed to read carefully the following
instructions :

. Examinee must write his/her Roll Number in the
specilied box on the top left hand corner of this page.
Answers are required to be marked only on the
Compulerised O.M.R. Answer sheet which is being
provided to the examinee.

. Basides filling in the Roll Number, the examinee has to
put his/her signature on the Answer-Sheet and also fill
other required details like Name, Roll Number, Queslion
Booklet code, etc, as indicated on the Answer OMR
Sheet. If these details are not filled in by the examinee,
his/her Answer Sheet will not be evaluated.

. For each queslion, there are four altemative answaers,
out of which only one is correcl. Examinee must darken
the circle of corract option in the Answer Sheet by Black
Ball Pen only.

. There are 32 (29+3) pages in this Question-Booklet
including 1 page for General Instructions and two
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room invigilator to change the same within
10 minutes of start of the exam.

. This Question Booklet contains 100 questions from
following subjects :
(1) Physics Q. Nos. 1-50
(2) Chemistry Q. Nos. 51-100

. Each question carries 1 mark and % mark will be
deducted for each wrong answer.

. Possession and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.

. Any leaf from the Question Booklet should not be
detached. Afler the Examination, Question-Booklet
and Answer-Sheel must be handed over to the Room
Invigitator.

. During examination the examinee will not be allowed
to leave the examination hall 1ill the END of the
Examination.
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PHYSICS

1. In a transistor connected in common
emitter mode, R, =4 kQ, R, = 1kQ,
I =1mA and I; = 20 pA. The voltage
gain is
A) 100
B) 200
C) 300
D} 400

2. Line of sight propagation is
A) Ground wave propagation
B) Sky wave propagation
C) Microwave propagation
D)} None of these

3. In the circuit the output y becomes
zero for the inputs

s—D—]
D°_“’Y
cPo—d

A)A=1,B=0,C=0
B) A=0,B=1,C=1
C)A=0,B=0,C=0
D)A=1,B=1,C=0

4. Two nuclei P and Q have equal number

of atoms at t = 0. Their half lives are
3 hours and 9 hours respectively. Their
ratios of rates of disintegration after
18 hours from the start is

A) 2:9
B) 3:16
C) 1:10
D) 5:8

1. M Jeasish Ynelt § 92 T iRt i
R.=4kQ, R =1k, |, =1mA 3l
lg = 20 PA. T Fieed 2
A) 100
B) 200
C) 300
D) 400

2. g i@ @
A) o &0 T
B) STTRTST &1 T
C) q&w ol ™A

D) 78 & 1§ 7

3. @fFhed = s sfauaEmy
Y B AR |

s D]
o—ev
cPo— T

A)A=1,B=0,C=0
B) A=0,B=1,C=1
C) A=0,B=0,C=0
D)A=1,B=1,C=0

4. AFEH PR QA t = 0 R il N
& GHA § | IR o7 1R s 3 6 i
9 ¥ 3 | 3TRN § 18 el g I fmea
T T I T
A)2:9
B) 3:16
C) 1:10
D)5:8
5 JCECE (P&C)
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5. Foragas of molecular weight M specific
heat capacity at constant pressure is

8. A parallel plate capacitor has a uniform
electric field E in the space between
the plates. If the distance between the
plates is d and area of each plate is A,
the energy stored in the capacitor is

1
A) > €,E?
E*Ad
o
1
C) -2-E OEaAd

D) e E2Ad

B)

7. ABis a wire of potentiometer with the

increase in the value of resistance R,
the shift in the balance point J will be

e

A B

H—e—

A) towards B
B) towards A
C) remains constant

L0 T

5. % M anfoies R T e Y frag 2 g

ﬁ—mmm%(r=-°—pJ

cv
A
A

B) R
r—1

R
) =y

rBM
Ry

1
C) -2'- € oEzAd

D) e E?Ad

7. AB U Fvariafier w1 am @ Rrail whiy

H%mﬁqﬁﬁvﬂ%nﬁmﬁy
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K
O
J

A B

——e—
A) Bl it
B) A aik
C) Fraawar 2

D) first towards B then back towards A D) vest B it 37kt fie A ai
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8. Hydrogen atom from excited state 8. A TR T 61 Ueh o Seuifoil e BTESIeH
comes to the ground state by T R i & v fey & an o
emitting a photon of wavelength A. 2 |9 R, Yea B 2 @ SR R 6
If R is the Rydberg constant, then — By 3
the principal quantum number n of
the excited state is A

A) \J o5
AR AR -1
A YaRr—1
A
8 % ® ViR-1
AR-1
AR? C) ARt
AR-1
C) AR-1
AR
AR D) ——
D) 3 A1

9. Select the output Y of the combination 9. IMEIA=1,B=0;A=1,B=13k
of gates shown in fig. for inputs A = 1, A =0, B = 0% foru firs 3 gwrin
B=0;A=1,B=1andA=0,B=0 e 'gﬁThYﬂﬁ'Q|
respectively.

I [ A o—l— | I Y

A | Y B o—l—

B o_I_

A) (0,1,1) A} (0, 1,1)
ST C) (1,1,1)
D) (1,0,0

a ) D) (1,0,0)

5 JCECE (P&C)



10.

11.

12.

13.

A radioactive element X with a half life of
2 hours decays giving a stable element
Y. After a time t, the ratio of X to Y atoms
is1:7, thentimetis

A) 6 hours

B) 4 hours

C) Between 4 to 6 hours
D) 14 hours

Three photodiodes D,, D,and D,

are made of semiconductors having
band gaps of 2.5 eV, 2 eV and 3 eV,
respectively. Which one will be able to
detect light of wavelength 6000A° ?

A) D,
B) D,

C) D,

D) D, and D,

Which of the following is not a derived
physica! quantity ?

A) Speed
B) Volume
C) Force
D) Mass

The number of significant figures in
0.07800 is

A) 4
B) 5
C) 2
D) 3

Page No. 6

10.

1.

12.

13.

AL A O G

T eyt e X Rl ond sy 2 92 8
THRITE YRR sudmd =
It %R, XY G e
1:7%,T9912

A) 6H2

B) 4 %2

C) 49 642l & o™

D) 1492

o WIS D,, D, 3R D, ;2.5 6V,
2 eV 3 3 eV ¥ o3 s7atie et s
Y § | 578 A H-T1 6000A° H aeretan
et TR I Yohg ehell B ?

A) D,

B) D,

C) D,

D) D, 3R D,

Freferfies & @ F9-a v yfa s
TET A R 2

A) Tf

B) A

C) ==

D) ¥R

0.07800 & wreleh 39l ) G 2
A) 4
B) 5
C) 2
D) 3

5 JCECE (P&C)
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14.

15.

16.

17.

If the momentum of the body increases
by 10% then the increase in Kinetic

energy of the body is
A) 21%
B) 44%
C) 11%
D) 55%

For which of the following does the
center of mass lie outside the body ?
A) A pencit

B) A dice

C) Abangle

D) A shot put

A steam of water flowing horizontally
with a speed of 25 ms™' gushes out of
a tube of cross-sectional area 10~ m?2
and hits a vertical wall nearby. What
is the force exerted on the wall by the
impact of water ?

A} 125N
B) 625N

C) —650 N
D) - 1125N

The change in potential energy when

a body of mass m is raised to a height

nR_ from earth’s surface is (Rg=radius

of the earth)

A) mgR _"_]
) mg E [n—1

B} mg R

C) mgR_|_N_

g E[ n+ 1]

D) mg R,
n

Page No. 7

14.

15.

16.

17.

AR e TG T AT 10% 5 S 2 7l I
TEE T - 1

A) 21%

B) 44%

C) 11%

D) 55%

freiferiea 4 @ Rreds e s Fz g @
CIEE

A) G Ui

B) © widn

C) & Et
D) T T

W <Rl G R 107312, STgwey e v
it Uk ieren & 25 i A1 < iy § Afiw
Tedlt g% et o e b Seaten iam
T THME B | el T DR AR a9
R ?

A) 125N

B) 625 N

C) —650 N

D) —~1125N

S TF m R STell g @i 9 & voaa @
nR, = =TS e IaT ST R o) fivn et
% aftEda 2 | (R, = gesft 7 )

A) mg R_ [n_"__1]

B) mg R_
C) mgR_|-N_
) mg E[n+1]

D) mg R
n

5 JCECE (P&C)



18. Anobserver moves towards a stationary

19.

20.

21.

source of sound with a velocity one-fifth
of the velocity of sound. The percentage
change in the apparent frequency is

A} zero
B) 5%
C) 10%
D) 20%

if a body gives out 10° electrons every
second, how much time is required to
get a total charge of 1 C fromit ?

A) 198.2 years
B) 19.82 years
C) 1.928 years
D) 1982 years

Electric charges q, 4, — 29 are placed
at the corners of an equilateral triangle
ABC of side /. The magnitude of electric
dipole moment of the system is

A) ql

B) 2q!
C) J3al
D) 4a!

An electric dipole of length 10 cm
having charges + 6 x 10-C, placed at
30° with respect to a uniform electric
field experiences a torque of magnitude
63 Nm. The magnitude of the electric
field is

A) 4.3 x 10*NC™

B) 2./3 x 10¢NC™

C) 443 x 10°NC™

D) 243 x 108NC™'

' Page No. 8

18.

19.

20.

21.

) 0 A

T TR T 3 o TR ) sl A

Fuama Y ddmAmg @ | v sl
# yfad wiem ©

A) A
B) 5%
C) 10%
D) 20%

@muﬁfﬁé%smgsaazhmm%
<o) Fore T & 1 C 1 5 A T
B ?

A) 198.2 T

B) 19.862 =¥

C) 1.928 9

D) 198234

gmtaréqaﬁmﬁaamc%aﬁu
forga e q, g, — 2q T C & | JorTedt |

oo farge o
A) ql

B) 2q!

C) V39!

D) 4q!

10 &, s 3l + 6 x 10-3C % 37
T T TreE fige B ©F @H R
A7 % wng 30° T T@r T R A =

643 %ﬁ.ﬂﬁﬁiﬂhﬂﬁlm%lﬁ?
&5 1 IimT §

A) 43 x 10*NC™
B) 243 x 10°NC™
C) 4+/3 x 108NC™’
D) 243 x 105NC™*
5 JCECE (P&
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22. A convex {ens is made of glass of R.l.
1.5. If radius of curvature of each its
two surfaces is 20 cm, the ratio of the
power of the lens, when placed in air to
its power when immersed inside a liquid
of refractive index 1.25 is

A) 5
B) 2
C) 2.5
D) 0.4

23. The angle of minimum deviation for prism
of angle % is % The refractive
index of the material of the prism is

a) V3
B) V2

o %
D) %

24. A diffraction pattern is obtained using
a beam of red light. What happens if
the red light is replaced by blue light ?

A) No change

B) Diffraction bands become narrower
and crowded together

C) Bands become broader and farther
apart

D) Bands disappear altogether

00, TF I9A SH AIdE 1.5, I Hia 4

23.

24,

2 | AR g A qeSt o Fema
20 7. ¥, I1g # W@ A W @ F AfF A
1.25 EdE ¥ ale § gAY I W A
Yiferi 1 STTIE &

A) 5

B) 2

C) 2.5

D) 0.4

14, o 3 e 3 R =g S A
7 % | Brom &5 el o v &

A) V3
B) V2

o) %
D) % -

ST ST o FeRuI-Get o1 S 4 U
ok frad s Wi Sl @ | 0 g Ak
ATl YRS 3 T G el SEhrn S o
1104

A) =i uaftad T8

B) frad vt dehiel ofj v wg ST |
It &

C) @ =t Sl - AR |

D) ufgat wh wi e B S ?
B 5 JCECE (P&C)



25. Two small circular loops, carrying

26.

equal currents are placed with the
geometrical axes perpendicular to
each other as shown in figure, The
magnitude of net magnetic field
Produced at the point O ig

Mo IR?
Jé(xz +R2 )%
B) Zero

A) B=

Ho IR?
4m (x2 + Hz)%

C)B=

M, IR

D) B= .
2(x2+R2)/2

The SI unit of magnetic permeability is 26

A} WbA-'m
B) WbA-"m™
C) Hm

D) Tm'A

Page No. 10

25.

A
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A) WbA'm
B) WbA-'m-1
C) Hm

D) Tm'A
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27. In an inductor of seif inductance 2 mH, | 27. 2 mH WE-3I9915 9T TH IRT § [ = 2,

28.

29.

current changes with time according
to relation I = t?%e™, At what time emf is
zero ?

A} 4s
B) 3s
C) 2s
D} 1s

A circular coil of 25 turns and radius of
12 cm is placed in a uniform magnetic
field of 0.5 T normal to the plane of coil.
If the current in the coil is 5A, then total
torque experienced by the coil is

A) 1.5 Nm
B) 2.5 Nm
C) 3.5 Nm

D) zero

A cylindrical rod is reformed to half
of its original length keeping volume
constant. If its resistance before this
change where R, then the resistance
after reformation of rod will be

A) R

B) B,
c) 3%,

o) R4

Page No. 11

28.

29.

|y ¥ TTAN e W % organ wRefia
B ® | fohw T emf Y @m ?

A) 4 T%E
B) 34%g
C) 245
D) 1&Fg

T 12 @t foreen ot 25 gt et

R FE&el 0.5 T F quM gorehia 85 A
Tl Foad doaad, A Bad 19k

Fgell H forega 5A &, 0 Foeht W eR e
Fr e 8

A) 1.5 Nm
B) 2.5 Nm
C) 3.5 Nm

D) ™

T SieHTh B 1 3T i Fam W gu
Jqehl TS @ 3TYT o o e & | Al g
gitads @ g wRde R a1 a) whedy & @
B 1 ey §m

A) R
B) R
cy 3R/

D) %
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30. A domain in ferromagnetic iron in

31.

32.

the form of cube is having 5x10°
atoms. If the side length of this
domain is 1.5 um and each atom

has a dipole moment of 8 x 10-2¢ Am?,
then magnetisation of domain is

A) 1.8 x 105Am™'

B) 1.18 x 10°Am~!

C) 1.8 x 106 Am*

D) 1.18 x 105Am™"

Power dissipated in an LCR series

circuit connected to an AC source of
EMF E is

2
Ez\/ H2+(mL~—1 )
A) wC
H 2
Ez[ﬂz+[mL——:3J J
()]
B
) R
E’R

C) =
\/ R? +[mL—mJC-J

E°R
2
R? + (mL - i)
oC

A ray of light is incident at 60° on
one face of a prism of angle 30° and
the emergent ray makes 30° with the
incident ray. The refractive index of the
prism is

A) 1.732

B) 1.414

C) 15

D) 1.33

D)

T A

30.mw*fﬁzaa‘l%ﬁm%mﬁqméaﬁ

31.

32,

D) 1.33

5x10™ vy & 1 af2 g 8 <6 g o s

1.5 um aﬂtmqwmmﬁgzﬁaanqyf
8 x 107 Am?8, Y &1 1 Jarehrercor 2

A) 11.8 x 105 Am-"
B) 1.18 x 10 Am-"
C) 11.8 x 105Am™'
D) 1.18 x 105Am"™’

EMF E 911 0% AC &id @ 93 & LCR
FGen aihe F widy wear

1 2
Ez\/ H2+[a)L——- —)
oC
A)

R

. Ez[ﬂz+(mL—m—1C)2J

R
E’R

C) e
\/R +(mL—ﬁEJ

E’R

. 1Y’
[H +(COL-&96J J
TF 30° IV a1t fiioH % Uk were W 60° ¢
T To19T <l fertor ammafara 2t & ofi g
ﬁmmﬁaﬁm%mwsu"mmm
2 | firem ot sroadiE 2
A) 1.732
B) 1.414

C) 15

D)

5 JCECE (P&C)
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g 33.

-

34,

35.

36.

A car travelling at 9 ms~' accelerates
and attains a speed of 27 ms' in 5s,
the distance covered in 5s is

A) 60 m B) 54 m
C) 90m D) 45m

A boy walks 5 m towards east and then
turns at an angle of 60° to the north
of the east and walks 5 m. The net
displacement of the boy is

A) 53m
B) 1043 m
C) 5m

D) 5¥2m

A string passes over a smooth pulley
with masses 4 kg and 5 kg attached

to the ends of the string and hanging
vertically. The tension in the string is

A) 49N
B) 43.55 N
C) 54.45N
D) 13.06 N

A circular disc rotates at 60 revoiutions
per minute about an axis passing
through its center. A coin of 18 g is
placed at a distance of 8 cm from the
center of the disc. The centrifugal force
on the coin is

A) 0.088 N
B) 0.057 N
C) 0.044 N
D) 0.075 N

33.

34.

35.

36.

Page No. 13

ot &' it nft & =e1 & & IR W =W
B ® ot e 5 ¥ A 27 A R
T Al B | 5 Gag F 7 e g
Hft ?

A) 60, B) 54 .

C) 904, D) 454,
haeH 5. WA I Rl &

FE I SR 60° F 0 9 e @ ik 5 .
<A1 8 | e 1 e fream

A) 5431,

B) 10/3.

C) 5.

D) 52,

T a1 O foereft foreft ot @ oreft 2 1 an
F3A R W 4 fem. a5 . . &
R JeaieR oiesh § | e d a2

A) 49N

B) 43.55 N

C) 54.45N

D) 13.06 N

T FATHR ave) §9e 5 @ 9 919 31
% 9IRT 3R 60 oI i e ot 3 & e
21wl F IR R 8 A A ghw s,
1 G Tt # | e W o ew R

A) 0.088 N
B) 0.057 N
C) 0.044 N
D) 0.075N

5 JCECE (P&C)



37. For a perfectly rigid body

38.

39.

40.

A) Young's modulus is infinite and Bulk
modulus is zero

B} Young's modulus is zero and Bulk
modulus is infinite

C) Young's modulus is infinite and Bulk
modulus is also infinite

D) Young's modulus is zero and Buik
modulus is also zero

Eight drops of water, each of radius
2mm are falling through air at a terminal
velocity of 8 cms™'. |f they coalesce to
form a single drop, then the terminal
velocity of combined drop will be

A) 32 cms™!
B) 30 cms!
C) 28 cms™!
D) 24 cms-!

Two moles of oxygen is mixed with
eight moles of helium. The effective
specific heat of the mixture at constant
volume is

A) 1.3R
B) 1.4R
C) 1.7R
D) 1.9R

The root mean square speed of smoke
particles each of mass 5 x 10-17 kg in
their brownian motion in air at NTPR is

A) 3x 102mg-1
B) 1.5 x 10-2ms-"
C) 3x 10 ms™!
D) 1.5 x 103ms™!

I R

37. T mewl 9K a5g ¥ fyg

38.

39.

40.

Page No. 14

A) 3N 1 OTTE ave & otk o wraie
bEE]

B) 3 =1 Tmieh 35 2 39K s wi
Fa 21

C) 7 1 MYk 37a & 3T of¥gs wgi At
34 B

D) =1 1 197 Y7 # 3 v i of
T2 g

YW 8 A, A & arad] w3 A Fed
gzﬁ.m.ﬁwmﬁﬁmmﬁi%%
wﬁéﬁaan@iaam‘r%?hwﬁaaf@
T EAT B

A) 3284 3~

B) 30 @} g

C) 28 .. g

D) 24 a3 g

IS & 3 A SR ¥ s nie &
1Y fiere S ¥ | PR st v s 6
el fafive s i :
A) 1.3R

B) 1.4 R

C) 1.7R

D) 1.9R

.3 0TS x 107 ., wr A yeire
ﬁq%maﬁrmgﬁmmﬁmrrﬁrﬁaﬁ
ey e e &
A) 3 x 10724, §-
B) 1.5 x 1024, -
C) 3x 10-31f, g
D) 1.5 x 1073+, g~
5 JCECE (P&C)
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41.

42.

A parallel plate capacitor having plate
area 25 cm? and separation 1 mm is
connected {0 a battery of 6V, the work
done by the battery during the process
is

A) 8x 1019
B) 4 x 10719
C) 8x 1073y
D) 4x 1072

The eolour code of resistor is brown,
violet, yellow and gold. Then the value
of the resistance is

A) 0.17 mega ohm + 5%
B) 0.17 micro ohm + 5%
C) 0.7 milli ohm £ 5%

‘D) 0.17 nano ohm + 5%

. In comparing the resistance of 2 coils

P and Q with a slide wire bridge, a
balance point is obtained when the
sliding contact is 30 cm from the zero
end of the wire. The resistances P and
Q are interchanged and the balance is
obtained at 120 cm from the same end.
The length of the bridge wire is

A) 150 cm
B) 200 cm
C) 250 cm
D) 100 cm

Page No. 15

41.

42,

43.

T A S Hife e oo aawe
25 T2 § of i 1 Mft. 2, 6V )
O A 9T ® ) i 3 S 3 g R
T % 2

A) 8x 1070y
B) 4x 107
C) 8x 102
D) 4x 102y

wfrae &1 1 %e o, FR, e o
GTeU 3 | el w1 o @

A) 0.17 ¥ 3 + 5%
B) 0.17 7SI 379 + 5%
C) 0.7 firclt 3w + 5%
D) 0.17 7 30w + 5%

TF WF dR §g & Y &t FUSET P ol
Q % wiody I goT T WG dgem fig
T B B, 94 R F I SR a0 T
308f ? | wierder P afit Q atrow Hagerom &
SR EGer I B H 120 At o g e vt

2 | Og o i T }
A) 150 Tt
B) 200 art
C) 250 awft
D) 100 @t

5 JCECE (P&C)



44. Two similar coils of radiys R and number
of turns N are lying concentrically with
their planes at right angles to each
other. The currents flowing in them are
[ and 21 respectively. The resultant
magnetic induction at the center
will be

A) Ho NI
R

NI
B) Lo -
) 2R

\/5;.10 NI
© 2R

D) \/gl.lo NI
2R

45. An AC voltage of 100 V,50Hzis
Connected across 3 20 O resistor
and 2 mH inductor in series. The
rms current in the circuit is

A) 10 A
B) 5A

C) 15A
D) 25A

46. If Vg, Vv, and V,, are the speeds of

gamma rays, X-rays and microwaves
respectively in vacuum, then

A) V<V <V
B) V,>V, >V
C) V,>V,<v_
D) V,=V, =V_

Page No. 16

A A

44, ﬁwaaﬂtNE{qﬁﬁﬁwwﬁa’r
Fsforil Tz W R ik 3% 7w ww
%mmﬁlaﬂﬁaﬁmﬁgﬁ
[aftog | % W i e g9
M

A) Ho NI
R

NI
By HoN!
) 2R

\[3_110 NI

© 2R

2R

45. 100 V 3 50 Hzﬂ@t{a‘??ﬁéﬁlmﬁ
% ufekiys afR 2 mH & 373 J sjwen i

' w%mﬁreﬁmmﬁga%l
A) 10A

B) 5A
C) 15A
D) 25A

46. AV, V, 3RV g, e i, xRt
S e <) Pt d nfy & 4
A) V<V, <V
B) V>V, >V
C) V,>V, <v_
D) V,=V,=v_
5 JCECE (P&C)
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47. Light of frequency 7.21 x 10" Hz is
incident on a metal surface electrons
with a maximum speed of 6 x 105 ms™'
are ejected from the surface. The
threshold frequency for photoemission
of electron is

A) 2.32 x 10" Hz
B) 2.32 x 10" Hz
C) 4.74 x 10" Hz
D) 4.74 x 10" Hz

48. A proton, a neutron, an eiectron and an
a-particle have same energy. Then their
de-broglie wavelengths compare as

A) A= > > A,
B) ?\,a<lp=7t.n<le
C) A, <A, =4 >4,
D) A=A =k =4

49. A hydrogen atom initially in the ground
level absorbs a photon and is excited
at n = 4 level then the wavelength of
photon is

A) 790 A°
B) 870 A°
C) 970 A°
D) 1070 A°

50. The half life of polonium is 140 days.

In what time will 15 g of polonium be
disintegrated out of its initial mass of
16g7?

A) 230 days

B) 560 days

C) 730 days

D) 160 days

Page No. 17

47. 7.21 x 10" Hz 3rgfa =1 vamer o uifs
IS W Afad B 16 x 1051, 4.1
e i e ToEeH s @ ey ¥
TAFA o YR Ieasi % R diwig
P &

A) 2.32 x 10" Hz
B) 2.32 x 10" Hz
C) 4.74 x 10" Hz
D) 4.74 x 102 Hz

48. TF WM, TF g, TF TR 3 @&
0T = T St & | A IR S-grredt
TTeEaT i GEr 39 YR Bt |
A) lp=1n>le>?\.n
B) A.u<7\.p=7\.n<la
C) A, <A =X >2,

D) A, =M =2 =2,

49, T TESIS AT ey Wt o sty §
TF BITH i STF9iNG F@ d n =4
TR IRE | 1T @ & BreE
TR &

A} 790 A°
B) 870 A°
C) 970 A°
D) 1070 A°

50. disitiam i ord 31y 140 Raw | A v
% 379 ST W1 16 T Y 15 T Qg
feafea 2 smom ?

A) 230 feag
B) 560 fes
C) 730 fesm
D) 160 feaw

5 JCECE (P&C)



51.

52.

53.

55.

CHEMISTRY

Write the IUPAC name of the following
compound ; Ka[Fe(CN)s]

A) Potassium ferro cyanide (I1)

B) Hexa cyano ferro potassium

C) Potassium hexacyano ferrate (1)
D) Potassium hexacyano ferrate {l)]

Most electronegativity element in the
periodic table

A) Br

B) F

C)H

D) O

A metal donot dissolve in concentrated
nitric acid is

A) Al

B) Na

C) Cu

D) Ag

Choose the reagents used to transfer
carboxylic acid to acid chioride.

A) PCL, PCI,, SOCI,
B) HCI, Hocl, socl,
C) PCL,, HCl, socl,
D) PC,, PCl,, HCI

An example for a crystal system with
axial distances and axial angles are
az b#canda;tﬂat'y =90

A) ZnsO,
B) Na,.S0,.10H,0
C) CuSO,.5H,0
D) CaCo,

51.

52.

53.

55.

D) CaCo,

O 050 R W e
A g

Freafeies s o IUPAC m farfag
K,[Fe(CN),]

A) NERrEm % armEe ()

B) T ¥R %) YRR

C) 9YeRTm teurmm) (1)

D) YRRmW YFamre) ¥z ()

aﬁémnﬁuafﬁmﬁga-m
aaR
A) Br
B) F
C)H
D) O

agmga’mﬁamfimamﬁ#a’fgam
A) Al :
B) Na
C) Cu
D) Ag

.-Elﬁﬁ:mm#mmﬁ |

TIFTRT 0 e arfirmias &
A) PCl,, PCl,, SOCI,

B) HCI, HOCI, SO,

C) PCl,, HCI, SOCI,

D) PCl,, PCI,, HCl

SLEECES TR PR
@B =y = 90 It fvee yneh = os
S UR S

A) ZnsO,

B) Na,.SO,.10H,0

C) CuS0,.5H,0

§ JCECE (P&C)
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56. Smoke is an example for

57.

58.

59.

60.

type colloid system with
dispersed phase and
dispersion medium.

A) Aerosol, Liquid, Gas
B) Foam, Gas, Liquid
C) Aerosol, Solid, Gas
D) Foam, Gas, Solid

What would be the IUPAC name and
symbol for the element with atomic
number 124

A) Unbiennium, Ube
B) Unbinilium, Ubn

C) Ununquadium, UUgq
D) Unbiquadium, Ubq

Name the compound which is a
colourless explosive solid and has a
pyramidal molecular structure

A) XeO,
B) XeOF,
C) XeQ,F,
D) XeF,

IUPAC name of O-chlorotoluene is
A) 1-chloro-2 methyl benzene

B) 2-methyl-4 chloro benzene

C) 2-chloro-2 methy! toluene

D) 4-chloro-4 methyl benzene

Mathematicai statement of the first
law of thermodynamics is
A) AU=q+W
B)g=Au+W
C) W=AU+q
D) Au=q-W

56. yait TRERT srawen afit

57.

58.

59.

60.

Page No. 19

TRET AT Ty WehT it Sivte
JUITeHt =1 e JeTew ¢ |

A) sfderm, @, e

B) ®H, M, @&

C) afderm, 3, g

D) wm, 4, 39

AT HEAT 124 FT6 T o |UPAC T 3ik
fEwne?

A) fafEm, Ube

B) smfsfaferam, Ubn

C) smarlEm, Ulg

D) smfaafemm, Ubg

34 i T T O T s 3 2
3R Tt anrfodres wea e 3 2

A) XeO,

B) XeOF,

C) XeQ,F,

D) XeF,

O-FeIRRIIE =1 IUPAC T &
A) 1-F-2 frerde s
B) 2-firmda-4 =il Sei
C) 2-3R)-2 forerdet etz
D) 4-3R1-4 firemda Seiq
FTIhT & wom Frm it g s @
A) AU=q+W
B) g=Au+W
C) W=AU+q
D) Au=q-W
5 JCECE (P&C)



61. What is the correct order of ionic
radius of the following species 0%, F,
Na* and Mg2*?

A) O* > F > Na* > Mg
B) O*> F~> Na* < Mg?*
C) O*> F-<Na*> Mg
D) 0% < F-<Na* < Mg

62. Choose the expected product ‘A’ of
the following reaction.

CH,—CH,~CH = CH, + H,0 =F—=
A) CH, - CH = CH- CH,
OH

B) CH, - CH, ~ CH = OH,

OH
C} CH, ~ CH, — CH - CH,

OH
D) CH, = G- GH,~CH,

OH

63. The concentration of hydrogen ion in
a sample of soft drink is 3.8x10~4 M.
What is its pH ?

A) 2.42
B) 3.42
C) 1.42
D) 4.42

64. Name the element in the group 16
having smallest atomic and ionic radii.

A) O
B) S
C) Tc
D) Se

D) Se

AR

61. Frerfafaa senfedi 02, F-, Na+ ain
Mg & T Brea o wdt 3 2
A} O*> F~> Na* > Mg
B) 0*> F~> Na* < Mg?*
C} O*> F < Na* > Mg
D} O*< F-<Na*< Mg

62. ﬁn%rﬁgaatﬁra:m%wwmgqﬁ
|
CH,~CH,-CH=CH,+H,0
A) CH, - CH = GH - CH,

OH
B) CH,—~ CH, ~ CH = CH,
OH
C) CH, ~ CH, ~ CH — CH,
OH
D) CH, = ?“ CH, ~ CH,
OH

63. T3 9 % U T ¥ w1 3 ) TigA
3.8x10~* M 7, 9 pH a1 8 ?
A) 2.42
B) 3.42

C) 1.42
D) 4.42

+
=H .

64. TE 16 ¥ wod BIA ywIvae 7 smis
s a1 o 1 T sy
A) O
B) S
C) Te

5 JCECE (P&C)
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65. Name the highest number of oxidation
states shown by an element of first
row transition metal

A) Fe
B) Cr
C) Mn
D) v

|

| 66. Among the alcohol which one is highly
{ reactive with hydrogen halide
!

A) CH,OH

B) CH,CH,OH
i

C) CH,~ C- OH

|
CH;,

D) CH, ~ CH-OH
CH,

67. Rate constant units for first order, second
order and zero order reaction is

A) mol L-'S™', S~' and mol-! L §-
B} mol' LS, S-' and mol L' 8-
C) §7, mol”' L S~' and miol Lt §-
D) $7, mol L-'S-! and mol- L 8

68. The product ‘A’ of the following

reaction is

Cu/Zn0O-Cr,0,
CO@+2Hﬂm — A
A) HCHO(Q)
B) CH,OH
C) H,0

D) CH,0H + H,0

e e L
= i : e L e e R e o i o

ol ot T e g T el e S LT R S

x i,

T I e s

BATF,

65. o fed % Hertur Ty T FRT qEIE
freham ITae srEreAel w1 AW TaRy |
A) Fe
B) Cr
C) Mn
D) V

66. T & TEgIeM ¥eve % WY 3=
Ffufsraniia sreheia &
A) CH,OH
B) CH,CH,OH
CHa
C) CH,- c::— OH
CHa
D) CH, - CH- OH
CH,

67. wem g, fiefr Aoft i sr Aoft arfrfn
H s g 2
A) moi L' S, §-' 3t mol- L 8§
B} mol' L8, S 3t mol L' 8
C) S, mol~' L. 8! 3{R mol L' S~
D) S, mol L' S~ st mol- L S

68. Fr=irRam a1l =1 32 ‘A’ 2

Cu/ZnQ - Cr203 X
2{g) i

CO,+2H

A} HCHO(Q)

B) CH,OH
C) H,0

D) CH,OH + H,0
5 JCECE (P&C)



69. The crystal defect shown by ionic
substance with large difference in the
size of ions and almost similar sizes are
named as

A) Schottky defect and Frenkel defect

B) Impurity defect and metal excess
defect

C) Frenkel defect and Schottky defect

D) Metal excess defect and Schottky
defect

70. Find out the product ‘A’ of the
following reaction.

NH,
@’ + CHCI, + 3KOH

Al A +3KCI+3H,0

OH
"
Cl
{S

Cl

o [T

HO

NC
o T

Page No. 22

IR AR R

69. 3R % 1§ 23t it sl e O
AR T AR veTe g awite T R
arSi A R

A) ThiTH By iR S ey
B) 31y €1 3 ung aniftre @
C) et 3w I whieh 2y
D) g snfera 9 3R e 9w

70. Fr=faRe st ¥ sae ‘A" 3 7@
cod

NH,
@ + CHCI, + 3KOH

H
———> A+3KCl+3H,0

. OH
A
Cl
B)
Cl
o [T

HO

NC
<

5 JCECE (P&C)
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71.

72.

73.

Steam reforming process involves

A) CH, +H,0 MO , co43H,

B) CH, + H0 —N9_, G0 4+ 3H,

C) CH, +H,0 —229_, GO + 3H,

MnO
D) CH, + H,0 ———— CO +3H,

Choose the reagent A and B used for
the following reaction.

A) NaNO, + HX, Cu,X,
B) Fe, dark
C) Zno + Hx Cu,X,

D) Cu X

22

NaNO, + HX

Monomers used for the synthesis of
Glyptal are

A) Ethylene glycol, phthalic acid
B) Urea, formaidehyde

C) Vinyl chloride, Phthalic acid
D) Phenol, Formaldehyde

Page No. 23

71.

72.

73.

i w9 § e @

A) CH, +H,0 _MgO , co 4+ 3H,

B) CH, + H,0 — N9, cO +3H,

C) CH, +H,0 —Z"9 , cO + 3H,

MnO
D) CH, + H,0 —— CO + 3H,

Fraferiaa sifvfrn 3 forg ygwa sifbeis
AsirBgfu |

"
—_—
B X
BE— + N2

A) NaNO, + HX, Cu,X,
B) Fe, 3i&q

C) Zno + Hx Cu X,

D) CuX

272!

NaNQ, + HX

rerew & Fmiv &g T o 8
A) FUTSEA TSI, SeTfereh a1
B) Ift, widwifeee
C) fermder i, weriers avet
D) fTer, wrieieers

5 JCECE (P&C)



74. The molecule which is having dsp?

75.

76.

77.

hybridization
A) [Ni(CN), -
B) BrF,

C) PF,

D) SF,

At constant temperature the pressure of
a fixed amount (ie number of moles n)
of gas varies inversely with its volume.
This is known as

A) Boy's Law

B) Boyle's Law
C) Charle's Law
D) Avogadro Law

One among them is an example for
insulators in solid state but conductor
in molten state.

A) SIO,
B) CaF,
C) CCl,
D) Fe

The type of absorption is highly specitic
and takes place at high temperature
with unimolecular layer is

A) Chemisorption

B) Physisorption

C) Chemisorption and physisorption
D) None of the above

Page No. 24

74.

75.

76.

77.

L0 A
I8 Y e dsp? Egfieonm @

A) [Ni(CN),1>
B) BrF,
C) PF
D) SF,

T arom wt e i v Rfee v
(n e i i) I9F T F Rem
fafere &t &, = weemar 2

A) a7g =1 fm

B) fae & fam
C) drcd w1
D) wErig! = fram

¥ Y U Y e & S O v i
FraTere ¥ 3R e srrew  gerern @ 7

A) SiO,

B) CaF,
C) ccl,
D) Fe

ST 1 T§ TR St 399 ¥9 A AR 2
S G R % T I I e 2

A) EREETI

B) i srasiiye

C) WrEaunyw 7 Hifees arvimy
D) Svdw A q 9 7

5 JCECE (P&C)
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78. One among them is a good reducing

79.

80.

81.

agent

A) H,PO,
B) H,PO,
C) H,PO,
D) H,P,0,

Write the highest order of reactivity for
S,2 reaction

A) HC-Cl

B) H,C - CH,-Cl

CH,
C) HG- ¢-Cl
H
CH,
D) H.C- (I;}— Cl
CH,
Example for strongest reducing agent
amongst all the hydrides of group 15
A) NH,
B) AsH,
C) SbH,
D) BiH,

Rate = K[A]}é [B]% [C]'1 order of the
reaction is

A) Second order
B) Half order
C) Third order
D) First order

78. T8 A U 31=u1 Hu=dl ST B

79.

80.

81.

A) H,PO,
B) H,PO,
C) H,PO,
D) H,P,0,

8,2 ffsrn % fg srfifsmarefieren
I 9 8

A) H,C -Ci

B) H,C - CH,-Cl

CH,
C) HC- &—Cl
H
CHs
D) H,GC - <15— cl
CH,

T 15 % Wff gl § § waiftes e
A=t AR =T I5TERTT @

A) NH,
B) AsH,
C) SbH,
D) BiH,

T= K[A}2 [B] [C]" s
At 3

A) fiha gofi
B) atd st
C) Teita oft
D) wuH vt

5 JCECE (P&C)



82.

Name the type of reaction involved in
the following reaction.

A
2 AuCly + 3 HCHO + 3H,0 —2Au, .+ 3H COOH + 6 HCI

83.

84.

85.

A) Double decomposition
B) Reduction
C) Oxidation
D) Hydrolysis

The enzyme present in the curd is
A) pepsin

B) zymase

C) lactobacilli

D) diastase

The major uses of compound A is in
the preparation of nitroglycerin,
trinitrotoluene etc. then compound A is
A) nitric oxide

B) nitrous oxide

C) nitric acid

D) nitrogen dioxide

is an example for

NOZ’ type
of ligand.

A) hexadentate

B) bidentate

C) monodentate

D) ambidentate

Page No. 26

82.

A L A

Frfaiga stiiferen  wfter s
eI <1 19 T4 |

A
2 AuCl;+ 3 HCHO + 3H,0 —2Aug, . +3HCOOH +6

83.

84.

85.

A) Tz e
B) UM

C) ST=g

D) Sie1-aTEe

TEl § 9t damgm 2
A) =

B) SRt

C) Qe

D) S/

it A 1 gEa: TE Tgeiferat, |

ETSEIeieqgd MR s H e & |
WA AR

A) TTERF RS
B) wrEgH sHiaugE

C) TEiew

D) g sRaTeEe

NO,” YR & Yol 1
TR |
A) weegdt
B) fadHdh
C) Tkt

D) wigadi

5 JCECE (P&(
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89.

. TR T T T T T T e SR T T T
el e, A e

87.

88.

! A

86. Examples for neutral oxides

A) CO, NO, CO,
B) CO, S0, SO,
C) CO, NO, NO,
D) CO,, SO,, N,0,

Example for antidepressant drug
A) Prontosil

B) Ranitidine

C) iproniazid

D) Heroin

Name the catalyst used in the
following reaction.
4 HCI(Q) + Oz(g) - 2Cl, + 2H,0

A} ZnCl2
B) SnCl,
C) CuCl,
D) PdCl,

Phosphorous trichloride has a
structure in
which phosphorous is
hybridization.

A) pyramidal, sp?

~ B) pyramidal, sp?

C) bipyramidal sp?
D) bipyramidal sp3

- In the co-agulation of positive Sol, the

flocculating power is in the order of
A) PO,">80> > CI > [Fe(CN)J*
B) CI'>PO,” >80 > [Fe(CN)J*
C) [Fe(CN)J" < PO,* <80,* < I
D) [Fe(CN)J“ > PO,* > SO5 >cr

Page No. 27

86.

87.

88.

89.

90.

IR 3tTeTEE % Ierm @
A) CO, NO, CO,

B) CO, 80, SO,

C) CO, NO, NO,

D) CO,, SO,, N0,

whisaag sitefl 1 g 2
A) Wi

B) erd

C) ImwAmafe

D) &%

TR siffn o vy s A

wFand |
4 HCl, + 0, ~ 20, + 2H,0

A) ZnCl,
B) SnCl,

C) CuCl,

D) PdCi,

TP RGNS GF _ Hee
& form wienrg et § |

A) Titfrea, sp?

B) fiifirew, sp?

C) sftifres sp?

D) aftifireet sp?

YFTEHh Fiet o whe o 3vi3 I w3
A) PO,”> 80, > CI" > [Fe(CN) J*
B) CI'> PO,”> 80,* > [Fe(CN)J*
C) [Fe(CN)J"<PO,*<s0> <CrI”
D) [Fe(CN)J" > PO, "> S0 > Cf°

5 JCECE (P&C)



9.

92.

93.

94,

One among the following posses zero
dipole moment

A) H,0

B) H,

C} NH,

D) HCI

Name the polymer which is used
for nonstick surface coating and it
decomposed at temperature above
300°C

A) polyester

B) Teflon

C) Orlon

D} Nylon

The conversion of molecule A to B follows
second order kinetics. If concentration
of A is increased to four times, how will
it affect the rate of formation of B

A) The rate will increases to 16 times
B) The rate will decreases to 16 times
C) The rate will increases to 8 times
D) The rate will decreases to 8 times

Choose the equilibrium constant for
the reverse reaction for the following
reaction.

Hyg * L == 2HI,
) [HIT?
A o= 0]
it [HI]"
R AT
o) c—[HZJ[I:]
[Hi]
) g [Hz][lz]
[HIf

Page No. 28

91.

92.

93.

94.

A

¥7H O O I T e mecg arer
A) H,0

B) H,

C) NH,

D) HCI

3G AT A FA9E A TR o =
g ST B S BT @ 37 300°C
tfiren & amvae R Fraifa S g |

A) difereeet

B) weii

C) e

D) A=A

A8 B 319 1 itadd faei Soft i iRt
ASI AiEa TR IO E I TS R | T8 B H+
1 g wY wfera b ?

A) T 16 TN &g S |

B) & 16 Tun =g st |

C) =X 8 1[un =g ST |

D} <X 8 o e ST |

freferfiga aifufdmn f faam sl
o wgeH e g |

Hyg + lag —— 2Hlg,

[HIf

(][]
(all}

DK =TT
H0,]
HIT
D) Kc' s [H2] [12]

]

A) K =

C) K, =

5 JCECE (P&
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95. Neoprene is synthesized using
monomer.

A) CH,= G —CH =CH,
cl

B) CH,~ CH - CH = CH,
cl

C) CH,—CH =CH - CH,

D) CH,~ C = CH~CH,

Ci
96. The following reaction can be accelerated
inthe presence of component

2 KCIO; — 2 KCl + 30,
A) Manganese dioxide
B) Platinum

C) Iron Oxide

D} Magnisium dioxide

97. As of now, total number of elements with
atomic numbers placed in the periodic
table is

A) 118
B) 108
C) 119
D) 117

98. Transformation of benzoyl chloride to
benzaldehyde by the hydrogenation in
the presence of palladium on barium
sulphate is named as

A) Etard reaction

B) Stephen reaction

C) Gatterman reaction
D) Rosenmund reaction

Page No. 29

95. FEi T 1 I
L AT 8 |
A) CH,= C - CH=CH,
Cl
B) CH,~ CH - CH = CH,
Cl

C) CH,— CH=CH - CH,

D) CH,~ C =CH~CH,
Cl

96. Fraferfaa aififshan
Iufeufar 3 i Y < adi 2 |
2 KCIO,— 2 KCl + 30,
A) TS SRIRiTaRITSe
B) wiile®
C) A ATH1EE
D) A=fiftrm SEstiTaRs

. HEERH

97. IduH H, TTad QR § YT HE afga @
Y e Y el G §
A) 118
B) 108
C) 119
D) 117

98. sfEm Tk # tifeam i sufesfa &
TGS ERT 15 FSE i
deerferes o weem #
FEAE
A) e aifvrfgan
B) W AffERar
C) et arfirfsran
D) Uswae Afrfsan
5 JCECE (P&C)



AR AT
99. Calculate the mass percentage of 99. fz Ssfim 38 M T EEITEE F

benzene (CH,) and carbon tetrachloride 122 g T =yl S a1 S (C,H,)
(CCl,) if 38 g of benzene is dissolved in FTaH LLFAEE (ccl,) ¥ gfdema o
122 g of carbon tetrachloride T i |
A) 23.75, 76.25 A) 23.75, 76.25
B) 76.25, 23.75 B) 76.25, 23.75
C) 75.23,25.76 C) 75.23, 25.76
D) 25.23, 75.76 D) 25.23, 75.76

100. Choose the one, which posses 100. Heifrs areefrr wie aren EE
highest acidic strength
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Answer Key for JCECE (Physics and Chemistry) {Set-B)

Q. No. | Answer Key Q.No. | Answer Key
1 B 51 C
2 C 52 B
3 D 53 A
4 B 54 A
5 C 55 C
6 C 56 C
7 A 57 D
8 A 58 A
9 D 59 A

10 A 60 A
11 A 61 A
12 D 62 C
13 A 63 B
14 A 64 A
15 C 65 C
16 B 66 C
17 C 67 C
18 D 68 B
19 A 69 C
20 C 70 D
21 B 71 B
22 C 72 A
23 B 73 A
24 B 74 A
25 A 75 A
26 B 76 B
27 C 77 A
28 D 78 A
29 B 79 A
30 D 80 D
31 D a1 D
32 A 82 B
33 C 83 C
34 A 84 C
35 B 85 D
36 B 86 C
37 C 87 C
38 A 88 C
39 C 89 B
40 B a0 D
4 A 91 B
42 A 92 B
43 A 93 A
44 D 94 D
45 B 95 A
46 D 96 A
47 C 97 A
48 B 98 D
49 C 99 A
50 B 100 A




